Physics and Chemistry e

62.  Which one of the following is an unsaturated fatty acid?
4) Palmitic acid : e "
b) Lauricacid €] Limglemic aui
Linolenic acid

. d) Myristicacid

63.

64,

Wby 298K

65.

66.

When chlorine is passed through boiling toluene we get

a) o-Chlorotoluene

b) p-—Chloro toluene m | '

¢y Mixture of o & p—Chlorotoluene  CHy 1 W;'{“
d) Benzylchloride - L 4 3 .
The standard temperature used in thermo chemical calculatic)nscigL

a) 273K 3549425 = 2_:qu

o) 297K
d 303K

Which of the following is an intensive property?

a) Enthalpy S i

b) Entropy /DE"E\.NJV(j
Density

d) Mass

Schiff’s reagent contains
a) Rochellesalt
b) Resorcinol

Ropamidime

«&¥ Rosaniline . Q(,]”;gN%Ci

67.

—

¢) c.naphthol

The foimula of chromyl chloride is
a) CrCl

b) CiCl, . 'ﬂ
¢) CroCl, Cy 0Lty

Ay’ Cro.Cl,

68.

Homsilveris
a) Oxideore

b Suffideore Helide 03¢

o Halide ore

d) Carbonate ore

oj ok f- Chlovo Joluene

70.

@

L178) Space for calculation / rough work
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Y d) aceticacid
5‘_': mﬂnmﬁwmﬁw4m o7 0.125N NaOH. The cquivalent massof he acidis
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| 83. SOGCofoxahcacldls0x1dlzedby25(:cof0 20NKMnO Themassofoxahcac1dpresentm500ccofthe
o solutionis
43y 3.15¢ Cop H
b) 3l.5g |
S 63 | co00 H
B oog oy foxalic ocif
. Héﬁ’m'\*-)
84, Pure water is neutral because
H=7 “ =
1,[a;%/lfiitmus hasno effect F ,'L
c) Itisfree from dissolved salts
. d) PH=0
85. Inthetitration of Mohr saltagainst KMnQ, _the indicator used is
diphenyl . )
0, KMl Mb ot agaimt Kflaoy  doesrt
¢) phenotphmalem me Pfﬁ o \j et een ol T dicador.
d) Methyl orange {
. 86, The relationshﬁp between half life of a reaction and the order of reaction is
1 e :
1, o
a) % . a(.m-i)
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foot |
c) % a2
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2 F
6gm of urea is dissolved in 90g of water Relative lowering of vapour pressure is
-0.02
b) 0.2 - HyNCONH
¢) 0.002 N &
d 0.04
88.  6.84gofsucroseis dissolved in 200g of water. The molahty ofthe solution is
a) 0.2M
bg 0.3M No\etulmﬁu&r M &d SucYofe (Cu,HzZOfr) = 342
AP 0IM rmﬂﬂ‘“”“‘"BXG 94 - 24.9
d)y 0.02M - ;
: : ﬂ\\ﬁ[a{'fj 542 = OOIE/:L//
Space for calculation / rough work
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ity is given by :
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W in the lonization of NH,OH

- 100, Jusst befove atiaining the cherical equilibtitun :
- Rate of forward reaction decreuses & Rate of backward reaction. increasasy"
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